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I. Multiple choice        (2 points each=18 points) 

Choose the most suitable word or phrase for each space. Circle the correct answer. 
 

 

0. Have I ___D____ you about how Kathleen  is getting on at college? 

     A  said   B  explained    C  answered     D  told 

 

1. He is the class clown. He is always ___________ jokes.                                                                                             

A. telling     B.  doing    C. speaking    D. saying  

 

2. He really admires his teacher. He looks up _________ him 

A. on     B. in     C.  to     D.   from 

 

3. The film was very _________. 

A. enjoy    B.  enjoying     C.  enjoyed     D.   enjoyable 

 

4. The film was in French and nobody understood ______________. 

A. nothing     B. anything     C.   something    D.  language 

 

5. You are out of breath. _____________ you been running? 

A. Were    B. Are    C. Have    D.  Is 

 

6. He is never punctual. He is never __________ time. 

A. for     B.  by     C.  at      D.  on  

 

7. It is better to have loved and lost than ________ to have loved at all.                                                             

A. ever    B.  always    C.  since    D. never 

 

8. I cannot put _________ with her behaviour any more.                                                       

A. up    B.  of     C. on    D. in 

 

9. When I was fifteen  years old  I _______ in love for the first time.                                                                           

A. have fallen   B. fell      C. were falling   D.  fall 

 



II.  Word formation        (4 points each=20 points) 

Use the word given in brackets to form a new word that fits in the space in the same line.  

Write your answers on the lines below. 
 

EXAMPLE: 

It's a  marvellous (MARVEL) idea to teach English to children at an early age.     

 

 

The mass movement of peoples into Europe has been going on steadily since the end of World War II but sped 

up 1) ___________(MASSIVE) in the migration crisis of 2015.  More than a million 2) __________ 

(MIGRATE) poured into Europe from the Middle East, North Africa and East Asia. For a time, they were 3) 

____________ (COURAGE) to keep their own cultures. But that didn’t work out well. In 2011 the 4) _______ 

(LEAD) of Britain, France and Germany 5)________ (ADMIT) that multiculturalism had failed. 

 

1._______________________________ 

2._______________________________ 

3._______________________________ 

4._______________________________ 

5._______________________________ 

 

 

III. Key word transformations      (4 points each=12 points) 

Complete the second sentence so that it has a similar meaning to the first sentence. Use up to 

six words including the word you are given. Do not change this word. 
 

EXAMPLE: 
 

I last saw her at my 21st birthday party.       since 

I haven’t seen her since my 21st birthday party. 

 

1.  My father said I could use his car.         allowed 

My father ……………………………..……………………….. his car.  

 

2. Dani and Philip moved to Liberec in 1998      for   

Dani and Philip …………………….……………………..twenty years. 

 

3. Joel  looks older when he wears glasses.        make 

   Joel’s glasses ……………………………….………………………….    look older. 


